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title is written at the top not the end and word count is missing 
this assignment is 43 mb next time reduce the mb size file size

when you use although then 
next you give connecting reasone 

this precise is shorter than required length and the main theme of the precise is missing in this 
not satisfactory in any regard 
over all below average 4/20 need alot of improvement 
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single sentence 

single sentence ans is not correct format 



QEX\L,L‘O\ Q ( (\l\}{ “th e

NAYZXPL L C yNoack CA ;Xa/( 4hat

e xbesionced oA 75\4\)\0&% mL Q
5 W ids  beo 1<-” e |
(‘A\Lu'\(’i YA @1 ‘f\ L ,

|

VY\LQT. g\\ (\% <-&(L0‘d”%
s |

\
\

/]\/U"f‘/ﬂ(( vL(\ \’ }(Lp

XW rroke Ao I/K\«(
»\Q"T\L \(\ X”\\ \) @\ (ik A YOI

5 ureble o Btk o

e

\d—)% 54 AR Ov\A mvfo,&‘\Me :

(\-(.{‘uvs L

: RS '«
) W fho g > ,MCCW\—* e
4

Oy RS OVED \\\

Ao a L T C\]f\ AP \MA W (\\&

/T\/\U‘@ \6\/\,“&3\% \QV\A \J \B\y\g& e \4‘\ N%\
‘)@u\f@’ Wdce doodn et *xﬁ

\
ly\m\tn\é S A/

answers are correct
but single sentence is



answers are correct 
but single sentence is not correct format 
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